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	Reason for change:
	The description on interruption due to BWP switching to the carriers in the same serving cell is missing.

	
	

	Summary of change:
	Modification is made in section 8.2.1.2.7 and section 8.2.2.2.5 to clarify the requirement for interruption due to BWP switching to the carriers in the same serving cell.

	
	

	Consequences if not approved:
	There is no definition for the interruption to the carriers in the same serving cell during BWP switching.
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	Section 8.2.1.2.7 and section 8.2.2.2.5
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<< Start of Change #1 >>
8.2.1.2.7	Interruption due to Active BWP switching Requirement 
When UE receives a DCI indicating UE to switch its NR active BWP, the UE is allowed to cause interruption of up to X slot to other active serving cells if the UE is not capable of per-FR gap, or if the BWP switching involves SCS changing. When the BWP switch only imposes BWP parameter changes other than SCS and the UE is capable of per-FR gap the UE is allowed to cause interruption of up to X slot to other active serving cells in the same frequency range wherein the UE is performing BWP switching. X is defined in Table 8.2.1.2.7-1. The interruption is only allowed within the BWP switching delay TBWP_switching_delay_DCI as defined in clause 8.6.2 in TS38.133. Interruptions are not allowed during BWP switch involving only baseband parameter change.
When a BWP timer bwp-InactivityTimer defined in [2] expires, UE is allowed to cause interruption of up to X slot to other active serving cells if the UE is not capable of per-FR gap, or if the BWP switching involves SCS changing. When the BWP switch only imposes BWP parameter changes other than SCS and the UE is capable of per-FR gap the UE is allowed to cause interruption of up to X slot to other active serving cells in the same frequency range wherein the UE is performing BWP switching. X is defined in Table 8.2.1.2.7-1. The interruption is only allowed within the BWP switching delay TBWP_switching_delay_timer as defined in clause 8.6.2 in TS38.133. Interruptions are not allowed during BWP switch involving only baseband parameter change.
When UE operates in FDD mode, BWP switches in DL (or UL) carrier of an NR serving cell shall cause interruption to the corresponding UL (or DL) carriers in the same serving cell. The interruption duration is up to X slots.
Table 8.2.1.2.7-1: interruption length X
	[image: ]
	NR Slot length (ms)
	Interruption length X (slotsnote 1)

	
	
	

	0
	1
	1

	1
	0.5
	1

	2
	0.25
	3

	3
	0.125
	5

	Note1: If the BWP switch involves changing of SCS, the interruption due to BWP switch is determined by the larger one between the SCS before BWP switch and the SCS after the BWP switch. 



<< End of Change #1 >>

<< Start of Change #2 >>
[bookmark: _Toc526331681]8.2.2.2.5	Interruption due to Active BWP switching Requirement 
When UE receives a DCI indicating UE to switch its NR active BWP, the UE is allowed to cause interruption of up to X slot to other active serving cells if the UE is not capable of per-FR gap, or if the BWP switching involves SCS changing. When the BWP switch only imposes BWP parameter changes other than SCS and the UE is capable of per-FR gap the UE is allowed to cause interruption of up to X slot to other active serving cells in the same frequency range wherein the UE is performing BWP switching. X is defined in Table 8.2.2.2.5-1. The interruption is only allowed within the BWP switching delay TBWP_switching_delay_DCI as defined in clause 8.6.2 in TS38.133. Interruptions are not allowed during BWP switch involving only baseband parameter change.
When a BWP timer bwp-InactivityTimer defined in [2] expires, UE is allowed to cause interruption of up to X slot to other active serving cells if the UE is not capable of per-FR gap, or if the BWP switching involves SCS changing. When the BWP switch only imposes BWP parameter changes other than SCS and the UE is capable of per-FR gap the UE is allowed to cause interruption of up to X slot to other active serving cells in the same frequency range wherein the UE is performing BWP switching. X is defined in Table 8.2.2.2.5-1. The interruption is only allowed within the BWP switching delay TBWP_switching_delay_timer as defined in clause 8.6.2 in TS38.133. Interruptions are not allowed during BWP switch involving only baseband parameter change.
When UE operates in FDD mode, BWP switches in DL (or UL) carrier of an NR serving cell shall cause interruption to the corresponding UL (or DL) carriers in the same serving cell. The interruption duration is up to X slots.

Table 8.2.2.2.5-1: Interruption length X
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	NR Slot length (ms)
	Interruption length X (slotsnote 1)

	
	
	

	0
	1
	1

	1
	0.5
	1

	2
	0.25
	3

	3
	0.125
	5

	Note1: If the BWP switch involves changing of SCS, the interruption due to BWP switch is determined by the larger one between the SCS before BWP switch and the SCS after the BWP switch. 



<< End of Change #2 >>
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